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Winmeen - Group 4 VAO General Studies Model Test 11

1) Spsesoreupmist Goug SHmevid LMW SHeummest

saHm! 1517
1) QuetETSEHEE CFTSHgIflen QBHSHS.
2) &8 peoLepuiles QBHSS-
3) 2uflljuel) FevL(Wevmuiley QHHSS)-
4) opstronailey BLGHenSE Qsvemev.
A 2&3
B.1,2&3
C.1&4
D. 2,3&4
Which of the following statement is not correct
about later vedic period?
1) Women have right to property
2) Sati was practiced
3) Animal sacrifices were practiced
4) Not believed in the existence of soul
A 28&3
B.1,2&3
C.1&4
D. 2,3&4
2) &10& & 6TsTL6UHM] 61T uss S HENSLI
estubpflweurjseir wmeurj?
1) ©i1Gasnsi

2) amijesry
3) sevlleipsiy
A 1,28&3
B.1&3
C. 2&3
D. 2 only
Which of the following rulers followed buddism?
1) Ashoka
2) Harsha
3) Kanishka
A 1,28&3
B.1&3
C. 28&3
D. 2 only
3 ©usT ssHe @pHunelne eubs fe
uwevsfl wimg?
Learning Leads To Ruling

A. undlwmest
B. weunetr-p& s
C. &-w-4
D. steu(mpLilevemen
Who among the following Chinese traveller visited
India during Gupta period?
A. Fahien
B. Hieun Tsang
C. Si-yu-ki
D. None
4) Uss W &ewt WL @Gy wrHflwns
flemiSSw Q&MeiTens & 61T Wireneu?
1) mevev Sinley
2) mevev BOLIGems
3) mevev QFWey
A. 1wr @b
B. 2&3
C. 3wl (Hw
D.1&3
Which of the following principles are advocated by
both Buddhism and Jainism?
1) Right Knowledge
2) Right Belief
3) Right Action
A. lonly
B. 2&3
C. 3only
D.1&3
5) Qunpszs.
a) eflwmpsest - 1) GurGumeiv
b) #eofl - 2) &mesflGuoL
c) @&sueums - 3) FH yett
d) wl - 4) emLLLmest
b c d
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Match the following.
a) Jupiter - Phobos
b) Saturn - Ganymed
¢) Mars- Moon
d) Earth - Titan

a b c d
A3 2 4 1
B.4 1 3 2
C.1l1 3 2 4
D2 4 1 3

6) 2006 — b LIl (HeTeNEGHNENSHET 6T6T]
SiMflefl&EsIULL g sTemeu eTemeu?

1) yeerpLGLm
2) GuwsBws
3) @&rev
4) Guwmifleiv
A 2,3&4
B.1,2&3
C.1,3&4
D. 1,2,3&4
Which of the following planets are announced as
Dwarf planets in 20067
1) Pluto
2) Make Make
3) Cherus
4) Moris
A 2,3&4
B.1,2&3
C. 1,3&4
D.1,23&4
7) 2pmnflev Al Dieneyeiten FiGei 6THS (Pemmuiley
&LSSUUBEIMS)?
A. @55 GFevevev
B. smeygev
C. QgL Hlensv
D. Bi585&8W
Transportation of very fine sediments in a river
water isby meansof ____.
A. Traction

B. Saltation
C. Suspension

Learning Leads To Ruling
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D. Hydraulic
8) QuNpSEs.

a) &remevey QWSS - 1) Camismil wrsHledl(HHa)
afl(eug

b) setesliFenawnes QUGS - 2) WH euststiguiled
@&6v6ug)

C) emisE GLOHULL @WssL - 3) slksny
2anF6Sl6sT @UISHSHLD

d) CriGsn(h @wssd - 4) Wett Bbgs60

oo wp

3 2 4 1
Match the following.
a) Periodic Motion - 1) Coconut falling from
tree
b) Random Motion - 2) Riding a Bicycle
c) Multiple Motion - 3) Pendulum is a clock
d) Linear Motion - 4) Swimming of fish

a b ¢ d
A4 3 2 1
B.1 3 2 4
C. 21 3 4

D.3 2 4 1

9) sfluns QuNEBSwsTenens CaIHOS®H-
A. wev@UuIfl - GLsstesilery LML

B. aflevGBeur - guilev L(H&Hem&HS6IT

C. Ggettenest - HiflGG&L L emL

D. @eveud - uL(h

A. 1L @0

B. 2 L [{b

C. 3 &4 wL(Hw

D. 2 &4 L B

Choose the correctly matched pair.
A. Mulberry - Tennis bat

B. Willow - Railway sleeper

C. Coconut Tree - Cricket bat

D. Silk Cotton Tree - Silk

A. lonly
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B. 2 only

C. 3 &4 only

D. 2&4only

10) &8y 2sememaumilev L FHAQsMLEWNS
uwettu(eus) 61817

A. Ggmowid smiLGesTL

B. smiuj geu@ul

C. QunlLrflwibd enpLengl

D. Qurev gevoGuL

Which of the following used as a insecticide?

A. Sodium carbonate

B. Copper sulphate

C. Potassium nitrate

D. Ferrous sulphate

11) @ Q&6 wHmib Lev HAMlw QFev aflevriiE a6
siflwdlev
QeueflGummHestment?

aumuémeu stb(pemmuilev
A. seugy(h UTEU6L
B. upgausv
C. a8l seugy(h L6y
D. e1gleyiflevemev
Unicellular and smaller multicellular animals give
out carbon dioxide by
A. Osmosis
B. Diffusion
C. Reverse osmosis
D. None
12) Am Qoser ubflw sFapmisefley sHeummeog)
61517
1) w6y fleveNa6T 2 ML LG
2) Qserfleunest emOWSSHEBET(H HDDEG!.
3) @ WL 2 WiSHM (&6 STedT 6usT(THLD.
4) geso(h HLOL HetTemWDME.
A 1wr@Hib
B. 3&4 vl (B
C. 1&2wL (hid

D.1,2&4
Which of the following is not correct about Herbs?

Learning Leads To Ruling
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1) Ithaslots of branches
2) They do not have a main stem
3) They do not grow more than one meter in
height
4) They are non woody plants
A. lonly
B. 3&4 only
C. 1&2only
D.1,2&4
13) sflwns QurmBHweiTenens CaiHOS® -
A. @Qamevbumelleflwim - Yo
B. wsvsm QLT@WsvIgsT - efl (B M
C. em6058aM QLITFSH68T 6T610(&H6065TL 65T
D. @&mevmestid (BLGymerLd

Choose correctly matched.

A. Columba Livia - 1) Pigeon

B. Musca Domestica - 2) Housefly

C. Lyco persican esculantum - 3) Apple
D. Solanum Tuberosum - 4) Potato

14) fi55 wHSGIUD LD Fapmisefles Heupnesg)
61517
1) @81 SHoreilL (peom LGHSFIEULD.
2) 18 SlggiE6T BesT Qb BHSHBIEN BleOD GHTetTD
95 &6MBILL 60Ty
3) Hssisefles HeuGupmenest (W e HEST
61631851 @D,
A 1&2
B. 2&3
C. 2w pw
D. 3wl B
Choose the incorrect statement about Siddha
Medicine.
1) Itis a Dravidian system of medicine
2) Sidha medicial system was founded byba
group of 18 spiritual people called Siddhars.
3) Siva peruman is the first Siddhar
A 1&2
B. 2&3

C. 2 only
D. 3 only
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15) &flunest samenm CaIHOSH®0-
1) sl Gunemeuuilest 2milifleoty eTevotevsisbenss
GODBSLLEFLD 40 SIH& LILFLD 600.
2) sLLUGUTEmeUSHE ShEBBT @@ 2mililesenty
Caibos(Hsg! Hlwwestd Q&LHDHT].
A 1w (Ho
B. 2wl (b
C.1&2
D. e1iglab Qevenev
Choose the correct statement.
1) The maximum strength of the Legislative
Assembly of a state is 600 and the minimum
is 40.
2) The Governor can nominate one member to
the Legislative Assembly of a state.
A. lonly
B. 2 only
C.1&2
D. Neither
16) pnggw sumemeu UMM UletTauHd Fammiserien
SHEUMITETIZ)| 6157
A. QanLihg) Bl&DSETD Sieme.
B. &6mev&a (pigwing).

C. 1/3 2miiflestissm eeueun(® opstoT(Hd 6pliley

@umIeuMySeT.

D. 6116 @umbmeursei LOM)ILIQU|LD
CaibesdsalLBausD@D LY BlwweTsSnED
&GS WIMEsTEUTSH6TT.

Which of the following statement of Rajya sabha is
not true?

A. Itisacontinuous chamber

B. Itisnot subject to dissolution

C. 1/3“members retire every year

D. Retiring members are eligible for re-election

and renomination

17) @pHwnelles LB UsvBeum Czizevseflen
esrummUiL L G5i&H60 (emmS6iT eTemeu?

1) suwg) ubCaMpEETeT GBd CHIHEL (Wemm.

Learning Leads To Ruling
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2) @bhemn LIHM euTHEG ~efHES  euens
QewwiulL efl&gnaemy NHbSssieu (pemm.
3) ell&gnaemy NgHbSssieu (penm.
4) P Y&s CHIHEH SNBSS YPEOM.
A 1&2
B. 2&3
C.3&4
D. iemen1dHgibd
Which of the following electoral systems have
been adopted for various elections in India?
1) System of direct election on the basis of
adult suffrage.
2) System of proportional representation by
means of single transferable vote.
3) List system of proportional representation.
4) Cumulative system of indirect elections.
A 1&2
B. 2&3
C. 3&4
D. All
18) &G GQ&n@mssULLBeTen emaseflev FHeumment
AUNSEHSENS SI6MLIIMENID SM6vsIs.
A. @pSHwmallsy 6uessTL6v LO6BHT Shlens - LIFDWLLSTT
gsueflullsd HiFlsb smesriLBE DG
B. <iwestoessiLey GQFFE6TTIFD 6T65TD  LD6TTTEUENE
@iglwneilev siflgevloessr sletTmenlp&sLILIBEDSI.

C. @bHwnallest oevsT 6uemsS6iTl60 FTEM6IT LDEBIT 6U6ME

Q( LNNgTes &56i556m8 Q&TewsTeHEHSME) .

D. umemev  LD6BTT @ndHwnailest  suLGomEL

LGSsertle0 smesorliLi(H&Hma).

Identify the incorrect statement from the

following.

A. The alluvial soils occur mainly in the Ganga
— Brahmaputra plains of India.

B. The tropical chernozems are otherwise called
as black soil in India.

C. Laterites form a major proportions of soils in
India.

D. Desert soil is found in north-western part of
India.
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19) QuNBSZ5.
a) GunBestn@svmeur - 1) opLiiflésm
b) Qeugeilwen - 2) @mbHwim
c) weyesstL HlerfloEran@rm - 3) ameumil
d) BT seveTLD - 4) @556l
A 21 3
B.3 4 2
C.4 2 1
D.1 3 4
Match the following.
a) Mounaloa - 1) Africa
b) Vesuvius - 2) India
¢) MtKilimanjaro — 3) Hawai
d) Norcondam - 4) Italy

N w —~ D

A2 1 4 3
B.3 41 2
C.4 2 31
D.1 3 2 4

20) @Qan@pssUuL(psiten ULigwelles @UEHEH USS
Ne@enau emLwnemd seoih  GMluiGserfleo
SuHg Fflwuner eflmLenws CoiHB0S®H .
1) ol phs1
2) &bs Bs|
3) BIEGSSET]
4) pesflaeuisi
A 1&2
B. 2&3
C. 2 L @b
D. 3wl B
Identify Buddhist monks from the given list and

choose the correct answer from the codes given

below.
1) Abi Nandar
2) Kundu Nadar
3) Nadha kuththanar
4) Munisuvartar
A 1&2
B. 2&3
C. 2only
D. 3only

Learning Leads To Ruling
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21) SpsseaviL  sapmisefles  FHeumneeng
Caibos6
1) lyeunaige wHMH QUMHETEHeneT il HH&HLNs
HelluTiuy ellemawmsy LnSlliLenL .
2) SMHm| yeNuTjiiy

UMSULEDL6uS606m60.

ellem&mey

A. 1wr@w
B. 2 bl (hbd
C.1&2
D. e1gi6]b Qevenev
Identify the incorrect statement.
1) Liquid is effected by gravity more than
anything.
2) Gasis not affected by Gravity.
A. lonly
B. 2 only
C.1&2
D. Neither
22) siflunest samenm CaHIHOSMH .
1)  oidumeilev  emerflw
Guhurliiley eufluins seaundlgsen HenL CQUMISIDS.

weonmuilev 2L 66

2) ummsAwb Biflev eumpb @ Qasv 2uilifl. @i
setteglenlw  Gumell  &mevssT  eeod  [Hifled
SLUQUWITEFS QFwEledTmeDT.

A. 1ol @w

B. 2w Hb

C.1&2

D. eiglayb §evenrsv

Choose the correct statement.

1) In amoeba respiration is by simple diffusion
through body surface.

2) Paramecium is unicellular organism which
live in water and move with the help of
pseudopodia.

A. lonly
B. 2 only
C.1&2

D. Neither

23) seupnestens CaiHOSMH -
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A. ophmi epraidlev - 2010

B. eomsGLmGuéleveveiv - 2012
C. sniensg opm| — 2014

D. wuflév - 1963

Choose incorrect pair.

A. River Dolphin - 2010
B. Lactobacillus — 2012
C. River Ganga — 2014

D. Peacock —1963
24) sfluneseng GBS
BIFbLo6UFLO6ST

1) @uesrLmb SMERFILTSHH60

sLpwrest  Camullevnest  emaeonamnsy  Camuilemsv
SL_1Lg6DTITI].
2) emseonampnsy Gsmulley nmegdlb@Leveurd eTesTm)
SIeP&SILMHSEDS!.
A. 1or @
B. 2wl (b
C.1&2
D. etgla|ib @evemev
Choose the correct statement.
1) Narasimha II constructed the kailasanatha
Temple at kanchipuram
2) Kailasanathar temple is called as
Rajasimheswaram
A. lonly
B. 2 only
C.1&2
D. Neither
25) etTeu(meussTeumenm snevauiflenguilev
aflensliu(G5815.
1) Lot SetTenTTL & S1p& JHUBSSLILIL L D4,685T(H
2) 5GaMl 6ulpéE (PigeuDD Spesoi(h
3) ewull. QgemeseiLy Q&meney QaulwriL L
ERCC
4) LmeLl FSHWumed oMb Fmi ybler HEaey
LIEREFMLI SHTEFTL BT(HSLSSLILIL L 4685T(h
A. 1-4-2-3
B. 3-2-4-1
C. 2-3-14
Learning Leads To Ruling
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D. 4-1-3-2
Arrange the following events in chronological
order.
1) Home rule league at poona
2) Conclusion of kakori case
3) Murder of S.P.Saunder
4) Punjab governments deportation order of Dr.
Sathyapal and Saiffudin kitchlew
A. 1-4-2-3
B. 3-2-4-1
C. 2-3-14
D. 4-1-3-2
26) QuUNHS5S15.
a) eumesT Gauneivigmhieny — 1) LOMBIGESTHT 2 L 65TLIp&H6M8
b) &7 gamett Gewry — 2) amLilsiv FaL0g,) SetT
c) Gameng (Wabgl — 3) semeowilLTd CsmesTens

d) QabsmiGest gy — 4) p&Gsvesor Ly

0w >
N =

3 4 1
2 3 4
1 3 4
D3 2 1 4
Match the following.
a) Warren Hastings — 1) Treaty of Mangalore
b) Sir John Shore - 2) Hafiz Rahmat khan
c) Dost Muhammed - 3) Policy of Non-
intervention
d) Lord Macartnay - 4) Lord Auckland
A2 3 4 1
B1 2 3 4
C.2 1 3 4
D3 2 1 4
27) QuNHS5E)15.
a) Sienestsst — 1) WGrFlev
b) engilest — 2) Fi&sem1y
¢) emyGumsiv - 3) Niflligest

d) oyi.er60r.67 - 4) Liwyfledr
A3 1 4 2
B.1 4 3
c.2 1 3
D.4 3 2
Match the following.

a) Adenine - 1) Uracil

2
4
1
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b) Thymine - 2) Sugar
¢) Ribose - 3) Pyrimidine
d) RNA - 4)Purine

A3 1 4 2
B.1 4 3 2
Cc.2 1 3 4
D.4 3 2 1

28) &SpsseTiLaummieT SgliuenL 2 flenigeT
umflw Fflwnes samenm CHIHOS®H.

1) sipflwevemwdliy uEdH IV 6 SipliuemL

2 flemLos6iT iemombHgleiTens,).

2) sigliuenL 2flemwseT [HE WweTDEHSTEL  [B
QULNMHIGEUSD(E SILILMDHLILL &)

3) oipliuenL 2flenwseT LesTeTL(h SHemdHeniu

GubuBE5IS D).
4) sgliLenl. 2 flen&E6T (SlplodsEHEE HTFIW6D

FHHSTSDS SULPTEIGEUSDE 2 SElTeungid
EE:A )
A 1&2
B. 2&3
C.L,2&4
D. 2 &4
Which of the following statements about
Fundamental Rights is/are true?
1) The Fundamental Right are contained in
part IV of the constitution
2) The Fundamental Right are Non-Justiciable
3) The Fundamental Right promote
International peace
4) The Fundamental Right guarantee the
political freedom to the citizens
A 1&2
B. 2&3
C.L,2&4
D. 2 &4
29) Spssevonsummiet QevGrnellstt aflssorQeuerl
IM&GIEL 6J6USH6ENMBISET 6Tet6U?
1) goum
2) uhemflGsmiLm

3) wBHBHSITES

Learning Leads To Ruling
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4) QLIkIseeTHIT
A . 1,28&3
B.1&2
C.2&4
D. 2,3&4
Which of the following are the Rocket Launching
centre of ISRO?
1) Thumba
2) Sriharikota
3) Mahendragiri
4) Bangalore
Al28&3
B.1&2
C.2&4
D. 2,3&4
30) “ mmesr  BHSGU  UmDUTET  (HOHM
BLeIlgSenssem6m CmE\smeTCasT o4ullesT sTev1s: (&)
arflgnest Sijliemu HNGeut eulpriid) QiameiTCeuett” Q)
wnHenLw Fammi?
A. o507
B. umury
C. ammmaIsy
D. SiaraisEL
“If 1 were guilt of an unjust]l would rise in
Judgement against myself’ — whose statement is
this?
A. Akbar
B. Babur
C. Jahangir
D. Aurangazeb
31) QuNBSzs.
a) gevemeus gem — 1) LFH S0 & M6
b) unifleiv gnbgl — 2) B Hresf
¢) DDT - 3) gibeor gmilenoll L{bHSSEISH60
d) QumiLmeip L&D — 4) (PHlBS eTevIbemL 6L L

601615 S60

A2 1 4 3
B.3 41 2
C.2 41 3
D.1 3 4 2
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Match the following.
a) Bleaching powder - 1) Insecticide
b) Plaster of paris — 2) Disinfectant
c) DDT - 3) Purification of drinking water
d) Potash alum - 4) Plastering the fractured
bone

—
W NN w

3 4 2
32) SpserTiLaummist 2mHEG Qempuilstt UevTIL

A ofls et HeOLWID GHoOWHS 2(HEGSHlemeowbd
Q& MevsTLG).

B. &m0bH5 W6tTHenL WD (&HmMHS 2(H(E [Hlemeow|d
Q& MesoTL_gI.

C. ofs et seoLWD UHS& 2 (HEGbHemeowbd
Q& MesoTL_gI.

D. @eombs Wl SemLwb UHs 2 (HEGHlensoub
Q& mesoTLgl.

Which of the following one is property of Fuse
wire?

A. High resistance and low melting point

B. Low resistance and low melting point

C. High resistance and high melting point

D. Low resistance and high melting point

33) eouGunev  eteotm  FamUU(BD  NFO
6UETDITEN(&LD (30T 6U6ETTIS 5
SMlpsuBSSweur wmj?

A. Qegjapm

B. umsvuiest

(pemrmen

C. p&mSeoT

D. ungwegmr

Poibos a form of salutation to the king was
introduced by ___.

A. Shershah

B. Balban

C. Nasiruddin

D. Bahram shah

Learning Leads To Ruling
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34) abs QUUBSD (PeVESIDEHEHSHSTET  S6vfl
QznEeHaw EsSsflsss?

A. Lot ULl SLD

B. snhbg)-@ieflest eUiLIBSL0

C. uEp&M eLULBHSLD

D. ev&Gert eLILIBGSLD

Which pact recognized a separate electorate for
muslims?

A. Poona pact

B. Gandhi-Irwin pact

C. Punjab pact
D. Lucknow pact

35) QuUNBH5Z5.

a) sevotly W Hlemy — 1) 1922 o41b o46881(H H6V&EHST
wrBI[H

b) @nessiLmd eul L Bweng wMBAH — 2) LbLIMl
rBI[H

C) @5gIenpWTeno Simetd — 3) FUFLE ST

d) QeusitememwBerr GleusflGuim) Siiomewtid — 4) Gy
EIGIADEYEY

Uow»>

SN =W
N N

1 2
3 4
4 3
. 1 3
Match the following
a) Dandi march — 1) Calcutta session of 1922
b) Second round table conference — 2) Bombay
meeting
c) Non-Cooperation resolution — 3) Sabarmathi
Ashram
d) Quit India movement — 4) Sole
representation
.3 41 2
.1 2 34
.21 4 3
.4 2 1 3
36) GLWIss emevau] usell sreflwnE Gung)

o0 w>

Suugeilenw MG HleMewT (HpWNGES HEM6veul]
useailuilev QBLILG) 615 auenIy?
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A ydu Grurss semeveul CaibOs(HSSILHD
)

B. udw @uwurss semeveui GsimoshEsiul(H
SIeYIeU6L GIUIMMILIL] FMGLD 6UeHIT

C. @1flsLL &b 6rmesoTipM (s

D. 165 (Lp6iTer SMmevld (Lp(LR6US)ILD

The Vice-President of India who assumes office of
the President in case of vacancy holds the same

A. Until anew President is elected

B. Until a new President is elected and assumes
office

C. A maximum period of one year

D. The remaining tenure

37) seumns QunpnHwstenens CoiHOS M.
A. 5B8sevis6T SHevss — 1855

B. wmier sevabd — 1921

C. Gougymy sevsd — 1806

D. unrsL, 7 Fuumisst sevsid — 1804

Choose wrongly matched.

A. The Santhal’s Rebellion — 1855

B. Moplah Rebellion — 1921

C. Vellore mutiny - 1806

D. Barrackpore sepoys mutiny — 1804

38) &pssevrLeummiet el mrevsefley e1g Hm)
unLevseflesr QFmEGLILIMEGLD?

A, Aggm

B. Alsnmmassm

C. &gmep&ed)

D. & &l oyt & Ljs gmbuiy

Which work of Rabindranath Tagore is a collection
of short poems?

A. Chitra

B. Chitrangada

C. Gitanjali

D. The king of the Dark chamber

39) fwpssevoeupmiet GxmiLl uLLnessfl LumugD
slemLeud Qguilest wIHMIEHouD GCeumumLns

QIDETTTL 6V D\i16Y5&:(S, 6T1(H5F15 Q&MeTennSg)| 618]?

Learning Leads To Ruling
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A. QBLenL S6vor(h LOHMID GL ML &65oT(h

B. o(gpasi aflens wHMID LEFDF ailens

C. miesflullev wevT Siemioey wHmib GCsmesst eI
I

D. Questemiowlmest $6ssT(h LOHMILD Slg6wToM6sT S650T(H
Which of the following is not a observation of
Mendel in Pisum sativum.

A. Tall stem and Dwarf stem

B. Yellow seed and Green seed

C. Terminal flower and Axial flower

D. Smooth stem and Rough stem

40) g 26we) (GLe UGSHulles  Comi
2 eoLn&EGw  YCrmiGLNGsmeun  missuiasn uiliflé s
1(h5Z1HHML(H 61517

A. Nemmerv@omgwid eeuGev

B. UlemmeruGomgwid wGeuflwim

C. YenmmervGuomguwitd LimsL&Guimiyd

D. YlemmevGuomigwitd efleunsen

An example of protozoan infecting our intestine is

A. Plasmodium ovale

B. Plasmodium malariae

C. Plasmodium falciporam
Plasmodium vivax

41) Hwbs SLhensd s (PoHellev GumLLiLIBD Gl
sEULS e1g1?

A. GumeSiGwim

B. DPT

C. GumeSiGwm wHmio DPT

D. BCG
The vaccine injection for a just born baby is

O ¢

A.
B. DPT
C. Polio and DPT

BCG
42) wevflzevflest annefl 260 Qeuliublemeo _______
A 923°-948°F

B. 945°-95.6°F
C. 98.4°-98.6°F

O
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D. 97.2°-97.8°F
Normal body temperature of a man is
A. 92.3°-948°F
B. 94.5°-95.6°F
C. 98.4°-98.6°F
D. 97.2°-978°F

43) #flwnesteng GBS .-
A. sumpiy @y - 3.5% -4.5%

B. Gaevflmoy - <2%

C. 6188 - 3% - 4%

D. Gum&essTL 165601580
Choose the correct pair.
A. Pigiron —3.5%-4.5%
B. Wroughtiron - <2%

C. Steel with carbon — 3% - 4%
D. All the above

44) 2 b5 UM’ (G 6i555)nH(G Fwwnest @uimiilwso

A. @LUGuUWIFES

B. wH&s0b

C. aflens

D. 560016515, afleng
A2 1 4 3

B.1 3 2 4

Cl1 2 3 4

D.4 1 2 3

The physical quantity which is equal to the rate of
change of momentumis ____.
A. Displacement
B. Acceleration
C. Force
D. Impulse
45) QuNK5515.
a) ueveubs Ml GL&HST (&L - 1957
b) ©i1G&ns GussT G - 1978
c) ¢4.a0.Gs. nmeu G — 1985
d) erev.610.fraiad (o — 1986
Match the following.

a) Balwant Rai Mehta Committee — 1957
b) Ashok Mehta Committee — 1978

Learning Leads To Ruling
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c) G.VK.Raw committee — 1985

d) L.M.Singvi committee - 1986
A2 1 4 3
B.1 3 2 4
Cl 2 3 4
D.4 1 2 3
46) siflwnest Faphenm CHIHOSH .

1) 2w SHwstrn BHubHulletr euiiey QUMID euwig) 62
SHGLD.

2) UnMm(EHLETMSHSl60 SFLOMEBID @WIHMIEUSEDT CLPEVLD
2 wiBSlwestn BHuSHenw HleplilasiulL Geupest
BLESMS levevgl Smenwullsttemio  pdlwieumnilest
SlgliLiemLuilev H&&evLb.

A. 1wl @w

B. 2 bl (hd

C.1&2

D. s1gi61d @6vemen

Choose the correct statement.

1) The retired age of high court judge was 62
2) A high court judge may be removed from

office through a motion adopted by
parliament on grounds of proven
misbehaviour and incapacity.

A. lonly

B. 2 only

C.1&2

D. Neither

47) sieflzer wHmIb Siflgev eteotm QENHOMTLT

61560)|L 65T QISMLITLemLWE]?

A. 2 wjey

B. uessteum_L b

C. uetoTais&ID

D. GsuiomesTid

The term wear and tear in economy means

A. Appreciation
B. Deflation
C. Inflation
D. Depreciation

48) siflwnest samenm CaIHOS®0-
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1) NABARD aumié) 2 (peunéssiulL Spesor(n 1982
SHGLD.

2) werfly (esrGsordm @HMIWIE 1990 opb =ys81(H
(PSH6Y QGTLMRISLILILLG).

A 1w (Ho

B. 2wl (b

C.1&2

D. s1g1611b Qevemev

Choose the correct statement.

1) The NABARD was formed in 1982.

2) Human Development Index was formulated
in 1990

A. lonly

B. 2 only

C.1&2

D. Neither

49) seupnent Famenm CHIHOSEH.

1) @amglev 6urfl &SI STV
allFlasluHeuglevemsv.

2) @b&Hlw GaHW au(mHLMesTd QLIHLUMEYID 2 HLIGH
LHMILD 6U(THLOMeDT (PemmemU @& mesoT(h
SeoSEILLILI(HSIMS|.

A 1ol (o

B. 2wl (hb

C.1&2

D. etgla|b Q6vemey

Choose the wrong statement.

1) Profession tax is not levied by the Union
Government.

2) National Income of India was mainly
estimated by production and income
methods.

A. lonly
B. 2 only
C. 1&2

D. Neither

50) 13 opeuz) HlEsEGallstT Hemeveu s wim?
A. el Gaevsiy
B. Gs. shgmestd
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C. &. prasgmegest
D. e1651.85.Hmi

Who is the chairman of 13" finance commission?
A. Vijay kelkar

B. K.Santhanam

C. C.Rangarajan

D. N.K.Singh

51) @nbdHlwneilest WSLILIPEMOWNET LKIGEFFHenS
61517

A. CaHlw UnkIEEFHNS

B. (pibemu LBIGE FHens

C. 560858 LIkIGFFHNS

D. QUIMISEEH(H LInIGEFHenS

Which is the oldest stock exchange of India?

A. National stock exchange

B. Bombay stock exchange

C. Calcutta stock exchange

D. Bangalore stock exchange

52) puilevBeu LLQPL Qung UGBy @HHSI
NifssiulL opeso1® 61517

A. 1924-1925

B. 1932-1933

C. 1943-1944

D. 1947-1948

In which year the Railway Budget in India was
separated from General Budget?

A. 1924-1925

B. 1932-1933

C. 1943-1944

D. 1947-1948

53) sflune samenm CoiHOSE0.

1) @pdHwnellev 2 HusdH Qawiwiu@Bw geyeflsemer
Bla SFHswnes @né@Gwd GELwb Bh S wIF&EsT
SUCTE

2) @pHwneilev wrblev SingserlesT (P&etTEnLOUITEDT
au(pLoMesTLd ellhLIEn6sT 6ulfl D4 (HL.

A. 1L @0
B. 2 L {

C.1&2
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D. e1gi6)ib @svemev
Choose the correct statement.
1) USA is the largest importer country of
Indian textile.
2) Sales tax is the principal source of revenue
to the state government in India.
A. lonly
B. 2 only
C.1&2
D. Neither
54) 1) QB s sipuilett Gung) S1ps6vsT6ubHMI6T 615
Wesrumpiu@GEms?
1) wsHw  wmhev
GeOD&SLIL(HD
2) 2ggbHwetim wOMID 2wiBSHwssTy BHLSH ST

FLOLI6MD (Hemm&LILI(HLD.

oemSluIj&6iT GLDLI6ILD

3) wmrblev et WEFTHT HMISHH emeusiSLILI[HLD.

4) wrHlev ULQYL HiMISEHensussHLLNG).
A 1&2
B.1,2&3
C. 3&4
D. 4&2
Which of the following actions shall be taken
during the Financial Emergency?
1) Salaries of the central and the state
government employees shall be reduced
2) Salaries of the judges of Supreme court and
High court shall be reduced
3) Money bills of the states shall be with held
4) The state budget shall not be with held
A 1&2
B.1,2&3
C.3&4
D. 4&2

55) anemmifletr Hlwwemd wyysst Gnls5g S
Qan@ssUuL(Beien  aunsHlwnkiseneT  S([HSHSHev
Q&nesoi(h Fflwnesteng CHIHOS®H -

1) e( omblev 4 EmBINS HlwblssLIL B BUT Geum)
wrblevdeng CaimbaHaunTe: Q(HéHs Gauessi(hb.
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2) BleWIEs Hemevauy MTHEV O ETHHEnT HIWL&ELW0
Qumeg oIBS LAHlEVSSHET  (PSHEVEOLDEE (HL6DT
24Beundlg g Hlwidlss Geusssr(pLD.

A. 1w @b

B. 2 bl (hbd

C.1&2

D. eigle|b @evemev

Consider the following statement regarding
convention of appointing Governor and choose the
correct statements

1) He should not belong to the state where he

is appointed

2) While appointing the Governor President

must consult the Chief Minister of the state
A. lonly
B. 2 only
C.1&2

D. Neither
56) LileoTeu(meuesToummIie Fyem6eu MHlev FLLLD65TM
e LILfl6T SIMBIBLD SI6L6VNSS] 6157

A. SHEHBT

B. 5.1 Guwevemeu

C. wmblev HT& HEMELEMLD 6ULPE(EGHEDIT(EHIT

D. gL westm Gloevemeu
Which among the following is not a component of
Bicameral state Legislature?

A. Governor

B. Legislative council

C. Advocate General

D. Legislative Assembly

57) opmeivl seyiensenw GeusfluiiiL emeuervymi
wimy?

A. Gsueuev LNy

B. fltiusst gy

C. e8ll_Lesr Sy

D. efletreflg@ & Ly

Who was the viceroy releasing August offer?
A. Lord wavell
B. Lord Ribbon

C. Lord Lytton
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D. Lord Linlithgow

58) 1957 — 6v @HHw all(HHemev FLLEMS LIMIML Ly
Sijomeond Q&messi(h eubSHeury wmj?

A. g1 pmogmd Q&L ipwimy

B. nrasmaswm prw(h

C. prggmed)

D. s5wcpiss)

Who passed the resolution praising Indian
Independence Act, at Madras in 1947?

A. O.P.Ramasamy Reddiyar

B. Rangaiah Naidu

C. Rajaji

D. Sathyamoorthi

59) 1928 b pevuih LUTCHNES F&HWNHTEHS S 60T
Semevaulj wmy?

A. wsnEwT SMHS

B. &gy eusveouimi LGLsv

C. ssauamrjsumsvy Gr(H

D. &@nmb&Hnmns LimewTied)

Who was the leader of Bardoli sathyagraha in
1928?

A. Mahatma Gandhi

B. Sardar vallabhai patel

C. Jawaharlal Nehru

D. Surendranath Banerjee

60) SpssevLeupmieT Qeauufleney FHenevSidl
2 (Heuns:a5H)etr Hievsfls6it wmeneu?

1) GaewL L 6umesTd

2) oiHls s
3) Bevor Gefljamen Qrey
4) gefly 2607 sMHMI
A 1,2&3
B. 2,3&4
C.1,3&4
D. Gumhs6soT 3i6m601&HGILD
Which of the following conditions are involved in
temperature inversion?
1) Cloudy sky
2) Strong winds
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3) Longer winter nights
4) Cold dry air
A 128&3
B. 2,3&4
C.1,3&4
D. All the above
61. The price of a house is decreased from Rupees
Fifteen Lakhs to Rupees Twelve Lakhs. Find the
percentage of decrease
a.10% b. 20%
c.30% d. 5%
QU eiligett aflemev 15 Qevi s erpunuiledlpbg 12

QevL D eHUTLNGES (GBS 6Tesfled (GHenmbs

F56151D HNETTIQYLD.

a.10% b. 20%

c.30% d. 5%

62. Find the HCF of 48, 96, 528, 1584 and 2016
a. 48 b. 84

c.44 d. 88

48, 96, 528, 1584 wmHmb 2016-6571 15.QUM.6L. emW
sevo1(BLilig

a. 48 b. 84

c.44 d. 88

63. HCF of 23,32 4,5%and 15 is

a.23 b. 32

c.1 d. 360

23,3% 4,52 imib 15 61 15.Qlum. 6u

a.23 b. 32

c.1 d. 360

64. Six friends A, B. C, D, E and F are sitting in a
row facing towards North. C is sitting between A
and E. D is not at the end. B is sitting immediate
right to E. F is not at the right end. How many
persons are there to the right of D.

a.4 b.2

c.3 d.1

A B C D E whmw F etestm mevostufseT 6(h
auflenswns auLs@ CounsEl wimHg 2 eiteneny. A
womib E&E Qenrulles C 2etemmy. D embs

seoLdlullgy|b Qevenev. E& (g 2 Leumguns euevgLimid
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B 2¢itenmy. euevg semLFluflev F Qevemev. etenflev
D& (5 susvLILimiD 6155 6m6nT GUIT 2 6iTermeoTiy?

a.4 b.2

c.3 d.1

65. Find the area of the smallest square that can be
circumscribe a circle of area 154 cm?

a. 169 cm? b. 121 cm?

c. 144 cm? d. 196 cm?

154 Qi&.152 unliueney 2 6er aul L &6eng Q&ML H &Hf
alenTWUULL §5In$SletT UFlLeTens Sevot(HLillg.

a. 169 Q.52 b. 121 Qg.152

c. 144 Q&.152 d. 196 Q&.152

66. Mala invested Rs. 5000 for two years at 11% per
annum. Find the total amount received by her at

the end of 2 years.
a. Rs. 5100 b. Rs. 6200
c. Rs. 6100 d. Rs. 5200

e yevoTieM@ 11% eully eiggHlev em. 5000 3
Qrevsih D TIHHEDSHG (WHSH QFSHetTmm.
@nevoiLmD  pevongedt  (Pigaflev  jeuj QUMD
Q555 QST EnWE SIT6ToTs.

a. ¢m. 5100 b. em. 6200

c. ¢m. 6100 d. er. 5200

67. Find the compound interest on Rs. 15625 for 9
months, at 16% per annum compounded quarterly.
a. Rs. 1950 b. Rs. 1948
c. Rs. 1947 d. Rs. 1951

em. 156259 9 wNBRISEHSEG 16% dpevoilh eully
aigs5Hlev (WHeSH QFLFHT, ailly Smevnessi(HsE

@ weop GCsissluLLmey, sal( eullgenws

SIT60015.
a. erm. 1950 b. erp. 1948
C. erp. 1947 d. erp. 1951
68. If g is subtracted from the sum of g and g, the
remainder is
50 45
a.— b.—
72 72
c. 23 d X
72 72
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: b ; e salLellss QUHEI ;@S SBS
fenL5GW 16

a2 b

72 72
c. 2 d L

72 72
69.Ifa:5=b:7=c:8thenfind%’“rc
a.l b.2
c.3 d. 4

a:5=b:7= c:8 aefler “emw semELl.
a.l b.2

c.3 d.4
70.39852 <+ /7= 81 x 12
a. 41 b. 1681
c.1849 d. 43
39852 + /7= 81 x 12

a. 41 b. 1681
c.1849 d. 43

71. Find the 4™ proportional to 4, 16 and 7
a. 26 b. 28

c.24 d.22
4,16, 7 —etr BretisNeus) eflfs560858 &evoi(hLly.
a. 26 b. 28
c.24 d.22

72. Subha can travel 35 km in 2 hrs. If she travel
with same speed how much distance that she can
cover after the completion of 12 hrs.

a. 20 km b. 200 km

c.21km d. 210 km

&unm etetiueuy 2 wewflGENSHev 35 H.uS Hyd
sL&ESDNT erevfley, 9B CausdHlev GFesimmey 12
wewnflCBISSHlev eTeuausey HMID HLIHS QUEHLILITG?
a.20 &8 b. 200 .15

c.21 8.5 d. 210 &5

73. What is the formula to find the area of
rhombus?
a.d, xd,

c.%2(d, xd,)

b.2(d, x dy)

d. > (d; x dy)

smMuggINSSletT LNULETE] SHTwoT 250D (GHSSID
eTebTE0T?

a.d, Xd, b.2(d; x dy)
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c. Ya(dy X dy) d.=(dy X d;)

. 1357 9 1
74. Find the HCF OfE'Z'g'E'E andﬁ
1 1
a.- b.—
2 10
9 1
C.— =
120 120
1357 9 . . 1 . . .
3755 1o PDMID —-657 15.QUIN.6u. 6m6u8; SevorBLily.
1 1
a.; b.—
2 10
9 1
C.— =
120 120

75. There are two series given below, of which one
is complete and follows a certain pattern.
8 584 143 467 242 386
43 @ ® (@ @ (o)

Which number will come from the following at

place of ‘c'?

a. 321 b. 277

c.519 d. 502

@nesoi® Qs auiflenggeir &6
Qan@ssiulBemener. eubpflev (PFHev euflens
esnw Qubmieil L.

8 584 143 467 242 386

43 @ G @© @ (
‘c’ et60T) @LHHN6V U(IHLD 6TETITENETTIS: GITETTTE.
a. 321 b. 277

c. 519 d. 502
(98)%-(6.8)
(9.8)2+9.8x6.8+(6.8)2

76. Simplify:

a.0 b.1
c.2 d.3
. (9.8)3-(6.8)3
FHEGS- (9.8)2+9.8x6.8+(6.8)2
a.0 b.1
c.2 d.3
77.Find the LCM of 0.6, 9.6 and 0.12.
a.94 b.9.6
c.9.3 d. 9.0
0.6, 9.6 wHMID 0.12687 L5.@LIM.LD.6m6US B6vsT(H LTl
a.94 b.9.6
c.9.3 d. 9.0

78. Find the volume of a cylinder whose height is
3.5m and diameter of base is 4 meters

a. 33 b. 22

c.44 d.55
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17 2 (Hememullest 2.wimb 3.515, Sgafl’L 1b 415 erevflev
2 (Hen6muil6tT &60T 66y HT6TTIs.

.33 . 22

Q. 44 . 55

79. A wheel makes 20 revolutions to cover a
distance of 66 m. Then the diameter of the wheel
is_____
a. 105 b.1.04

c.1.03 d.1.02

Q(p EH(HHlesT 550D 6615 QBMemevey &L&H8 20
&HMIS6T &Hflevtey HFF5HEHNSSletT il _LLD
1. 1.05 =4, 1.04

@.1.03 /. 1.02

80. The smallest number by which the number 108
must be multiplied to obtain a perfect cube is
a.2 b.3

c.4 d.5

108 & 6mb g HAnflw eT6vvTETDINED QILI(HES (LP(LO5>86T0TLD
DG

3. 2 . 3

8.4 m. 5

8l. 2018 &neveud) swnett llHGIHES Gl
QawWwiLGuedy wmj?
[A] Aleur QLp
[B] aflgur QLssot(hevssiy
[C] ep1bss17 meimLomesT LIM(HE
[D] @Bl LS SIS TMonenIsyF
Who has been selected for the 2018 Saraswati
Samman?
[A] Siva Reddy
[B] Vijay Tendulkar
[C] Shamsur Rahman Faruqi
[D] Indira Parthasarathy Ramanujar
82. 2018 o0 pevEngMENEsT 2 6vlév aflsivLeufledt
semevenio aifyns Hewns QHHw HiflsQal el
wmj?
[A] K L gm@ev
[BI M S Gsresfl
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[C] eflgrL. Gasmme)

[D] Gymauflg egiom

Which Indian Cricketer has been named as the
Wisden's Leading Cricketer in the World for 2018?

[A] K L Rahul

[B] M S Dhoni

[C] Virat Kohli

[D] Rohit Sharma

83. 2019 Gz Hlw ungsMiunes Smileni HlevsHlet
(N'SMD) &(pLIQUIN(B6IT 6TebTevI?

[A] smi @wuiy - End Maternal Mortality

[Bl] ungssmiunest (HbensUlIDUL:  &STSTT
EMWIMLISEHSE GFsveug) - For safe childbirth, let's
visit health centres

[C] vAwureessElw  wesuGUE  ugmofliy -
Respectful Maternity Care

[D] sriionisenée 2sall Uiflueugser - Midwives for
Mothers

What is the theme of the 2019 National Safe
Motherhood Day (NSMD)?

[A] End Maternal Mortality

[B] For safe childbirth, let’s visit health centres

[C] Respectful Maternity Care
[D] Midwives for Mothers

84. 2608 spenms 2548 wrpi®h (WGS-2019) embg
B&I5S560 HeoLQUDHS?

[A] Blw, QLsves)

[B] gyumi

[C] urflerv

[D] svevorLsst

Which city is the venue of the World Government
Summit (WGS-2019)?

[A] New Delhi

[B] Dubai

[C] Paris

[D] London

85. 2019 International Day of Women and Girls in
Science - 65T eMOWE S ([HS S| 6T6tT6v1?

[A] Transforming the World: Parity for All
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[B] Investment in Women and Girls in Science for
Inclusive Green Growth

[C] Gender Equality and Parity in Science for Peace
and Development

[D] Women's participation in policy-making
processes

What is the theme of the 2019 International Day of
Women and Girls in Science?

[A] Transforming the World: Parity for All

[B] Investment in Women and Girls in Science for
Inclusive Green Growth

[C] Gender Equality and Parity in Science for Peace
and Development

[D] Women's participation in policy-making
processes

86. @npHwneilesr CxHlw wevmesfl Hewvnd 61HS
Brerflesv QamessTm LG ms)?

[A] Nuigeurf 10

[B] L\igeurf) 11

[C] Nuigeurfl 12

[D] Yiigeuf 13

On which date, the National Unani Day (NUD-2019)
was celebrated in India?

[A] February 10

[B] February 11

[C] February 12

[D] February 13

87. FIA umjweon 3 gCumitlw smbllwestafl
Guriguilév Qeuesty (P&H6L @rHHNWIF wimj?

[A] B@ryetT BMI&HSH CasWwiesT

[B] sievveilett &b

[C] Q38687 Bijsumev

[D] & (metT #HCHTEH

Who has become the first Indian to win in the FIA
Formula 3 European Championship?

[A] Narain Karthikeyan

[B] Ashwin Sundar

[C] Jehan Daruvala
[D] Karun Chandhok
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88. ACI-@eir 2018 eteflans QEMPevQSILEIS 2 &HS
@nHw wrhlevrksst Hreuflenguiley  (PHESILLD
Wigsgleiter omblevld 615)?

[A] GgIE

[B] oppHrlif@gseid

[C] wanymeippyT

[D] Sl6v6s)

Which state has topped ACI's Ease Of Doing
Business (EDB) Index 2018?

[A] Gujarat

[B] Andhra Pradesh

[C] Maharashtra

[D] Delhi

89. 27 94,6ug Lg)| Hlevel] 2 6v5 LS55 sevorsm_Slufleor
&(HLIGILIM(H6IT 6T65T60T?

[A] Books opening the mind. Doors opening the
future

[B] Vivid Bharat — Diverse India

[C] Readers with Special Needs

[D] Kathasagara: Celebrating Children’s Literature
What is the theme of the 27th New Delhi World
Book Fair 2019?

[A] Books opening the mind. Doors opening the
future

[B] Vivid Bharat — Diverse India

[C] Readers with Special Needs

[D] Kathasagara: Celebrating Children'’s Literature
90. ‘We are displaced: My Journey and Stories from
Refugee Girls around the World' etétim mmeSletr

SpAflwy wmj?

[Al m&lwim w5

[B] engevmeip gswmig S

[C] wevmevm wsliemeul]

[D] s6u&@smev &6t

Who is the author of the book ‘We are Displaced:
My Journey and Stories from Refugee Girls Around
the World'?

[A] Nadia Murad

[B] Kailash Satyarthi
[C] Malala Yousafzai
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[D] Tawakkol Karman

9. @ndHwunessnen Femeallest LUHw Fsons
Hlwidls sl (Bsimemeury wimg?

[A] epiGeur mam

[B] 681wy, wysuim

[C] g6t1 Qeu@Lrmir (Sun Weidong)

[D] Qeuli@eutil

Who has been appointed China’s new Ambassador
to India?

[A] Luo Zhaohui

[B] Liu Xiaoming

[C] Sun Weidong

[D] Wei Wei

92. wmblevEisememeuuilest  IieM6USHEMEVAIINTS
Hlwidlssiul (Heemeury wimj?

[A] BeuanHs Q&evm

[B] Nweip Gasmuisv

[C] @nsamrg A

[D] Nysevng Gegnag

Who has been appointed the Leader of the House
for the Rajya Sabha?

[A] Thawar Chand Gehlot

[B] Piyush Goyal

[C] Rajnath Singh

[D] Pragalath Joshi

93. 2019 NQnEps eLiues GLedtesfleiy GuTLiguilév
QILI6TTTS6IT LILL 56008 GleuetTmeury wimj?

[A] L& &L LT Qeumessier@gmeurT

[B] =4,61960 Ljie (Ashleigh Barty)

[C] Gnamettestm Q& megoTLIT

[D] wigastT Silien

Who clinched women'’s title at the 2019 French
Open tennis tournament?

[A] Marketa Vondrousova

[B] Ashleigh Barty

[C] Johanna Konta
[D] Madison Keys
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94. emhg B[ 2019 SAFF wseflj smbiilwesrafllienu
BLESIEDGI?
[A] Grumermid

[B] euriissmerin

[C] @S

[D] @evriienns

Which country is hosting the 2019 SAFF Women's
Championship?

[A] Nepal

[B] Bangladesh

[C] India

[D] Sri Lanka

95. 260 HAmibys Hemdb (WKD- 2019) @edr
&(HLICILIM(H6IT 6T65T60T?

[A] Kidney Disease and Obesity

[B] Kidney Health for Everyone Everywhere

[C] Kidneys for Life — Stop Kidney Attack

[D] Kidney Disease &amp; Children: Act Early to
Prevent It

What is the theme of the World Kidney Day
(WKD2019)?

[A] Kidney Disease and Obesity

[B] Kidney Health for Everyone Everywhere

[C] Kidneys for Life — Stop Kidney Attack

[D] Kidney Disease &amp; Children: Act Early to
Prevent It

96. sSusHlev Hnevionest flGems HMeBWLl, 6THS
Flemmenw Sjbgeury ?

[A] sipfleflwey

[B] ugsflsens glemm

[C] eflememwin_(h

[D] gL L

Vinod Kashyap, who passed away recently, was
the veteran personality of which field?

[A] Science

[B] Journalism

[C] Sports

[D] Law
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97. ojevvremouiledy @bHw  eubsneusfl &S 6rfletT
‘s@pwuligwened — Black List' fignasflss @pgey
Q&g LHEHW SiEMDEFHID 6157

[A] Qeuefllwmey Siemw&FSHLD

[B] 2 6itgi6mm SiemESFHD

[C] Qu(mBlmicuesT afleuETIAIGET SHEOLEFFSHLD

[D] s&6u6b HMID 6SILITLIL| SHEOEFFHD

Which union ministry has recently decided to
discard its ‘Black List’ of Indian-origin people?

[A] Ministry of External Affairs

[B] Ministry of Home Affairs

[C] Ministry of Corporate Affairs

[D] Ministry of Information and Broadcasting

98. HS wmhlevsHlev IBLLILIT6GuTIg 65T
UimbwseonCGenseeu Slpailon Qsm_ridlujsmeng)?
[A] 810516

[B] Gsryertm

[C] simBmL_sm

[D] @y NyGs&nd

The 2019 Brahmakalashothsava festival has
started in which of the following states?

A] Tamil Nadu

B] Kerala

C] Karnataka
D] Andhra Pradesh

99. gnmeillsst yHlw SDG  eusEGeONEHTNS
Hlwidlssiul Herer @ibHwiy wmi?

[A] Q&eunma GBMTELISY

[B] G&mestid eunmaugss

[C] an&6u LGWIr

[D] Slwir Bgem

Which Indian personality has been appointed as
new SDG Advocate of UN?

A] Chewang Norphel

B] Sonam Wangchuk

C] Jadav Payeng

D] Dia Mirza

Page 18 of 20



http://www.winmeen.com/

Group 4 GS Model Test

100. smoetT@eusvs GFwevs HHeuF STLMmuUSHest
(CSAT) emiinflesmns Hlundssiulsiten @bSHw
BHUSH wmj?

[A] T S n&sar

[B] waett Bevnégary

[CI K S @nrignd)(meipevsrest

[D] @ flwett GegnaLl
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Which Indian judge has been appointed as a
member of the Commonwealth Secretariat
Arbitral Tribunal (CSAT)?

A] T S Thakur

B] Madan Lokur

C] K S Radhakrishnan

D] Kurian Joseph
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Group 4 VAO General Studies Model Test 11 - Answer Key

1) C 21) D 41) D 61) B 81)) A
2) A 22) A 42) C 62) A 82) C
3) A 23) C 43) A 63) C 83) D
4) B 24) C 44) B 64) A 84) B
5) D 25) B 45) C 65) D 85) B
6) B 26) A 46) C 66) C 86) B
7) C 27) D 47) D 67) D 87) C
8) A 28) A 48) C 68) C 88) B
9) A 29) B 49) D 69) D 89) C
10) B 30) A 50) A 70) B 90) C
11) B 31) C 51) B 71) B 91) C
12) C 32) D 52) A 72) D 92) A
13) C 33) B 53) C 73) C 93) B
14) D 34) D 54) B 74) D 94) A
15) B 35) A 55) C 75) D 95) B
16) C 36) B 56) C 76) D 96) B
17) A 37) D 57) D 77) B 97) B
18) C 38) C 58) A 78) C 98) C
19) B 39) D 59) B 79) A 99) D
20) D 40) B 60) A 80) A 100) C
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